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All questions are :’compul'sory. ‘

Use of eale’ulator is nbt -ailoWed; .

The 'mhlmber“s to the right of 'the questions 'indicate full marks.
In case of MCQs [Q No.. 1(A)] only the ﬁrst attempt W111 be evaluated

and Wlll be glven credlt

'vFor every MCQ the correct alternatlve (A) (B) (C) or (D) w1th :

-
\»‘.

sub questlon number is to be wntten as an answer &

Draw the proper figures fo_r answers wherever necessary.

The marks ef construction should be clear‘ahd d1stmct .DO'.I,‘O{; erase -

them. |

(viti) Diagram is essential for writing the proof of the theorem.

P.T.O.
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(A) F(K)ur‘ alternafive answers are given for every silbquestion,‘
Seleét the corréct al'terr.lative‘ and write the alpl.l.a..b.et of thay
@Swe“ o i i | e
(1) Ifa, b; c are sides of a trian’gle.’ afxd a2’+ Ibz.“ = c?, name the type |
: .‘of tnangle i
@ Obtus angld ciangte
B Ace anged tingle
O e g g
@ .Chord,st AB anid CD of  cirele interssot inside the cifcle b bom
,v E If AE =4, EB = 10, CE=8, then find ED g
oy
. -(C) 8

@ 9
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3" Co- ordlnates of origin are

..........
.....
.....

(A) (0, 0

- ® 0,1
© a0 .
M) . (@, 1y
. v(4)' ~If radius of the base of cone is 7' cm aﬁd height is 24 cmv then”
ﬁnd its slant helght e G |
(A)' 23 cm
B gm0
. (C')' 31 c'in‘ -

\/ (D) 25 cm e

‘B) ">Solve the following' sﬁb-que’sti‘bl‘is;:  4 
| , . A(AABO) e R Sa
~APR th find AB : PQ.
_//(1) | If AABC Q d A(APQR) | ef; g ,. .Q |

(@) In ARST zs _ 90° AT £ 30° RT 5 12 em, then find RS.

L gy ‘If radius of a mrcle is. 5 cm, then ﬁnd the length of longest chord -

’ of a 01rcle

E’/E;) F1nd the dlstance between the pomts O (0 0) and PG, 4) |
B Y kW 'P.T.()‘
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‘Com" 1 : : , |
Plete the following activities (any two) :

2. A)

In the above figure, ZL = 35% find :
o) m (arc MN)
Gi); - mlETe LN e ot e

Solgtiqh | %" NS & :
@ . 4L = m(arc MN)........ By inscribed angle theorem) |

= % m.(arc MN)

2’ x 35 = m(arc MN)

- : m(arc MN) =




@
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) miare MLN) = [ '—m'(ar'cMN)”. &

o [Deﬁnition of measure of arc]

' = 360° — 70°
mareMLN) =[]

| Sh\c.)w;th.at, cot Q_{_tan 0 = cosecH x secd

Solution :

. 'cosO s1n 0
= +

~ 'sin® cos®

1]+~

- P

sin® x cosO

n

R |
X,

= sind " [oly

= cosec 0 xvsec(-)' '

. LHS. = RHS.

cot 8 + tan @ = cosecH x sec 0.
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(3 ) ,F ind .thé,lsurface area of a sphere of radius 7 cm.

| Solutiqn :

Surface area of sphere = 47r2

~. Surface area of As‘phere = 1616 ‘sq'-cni};.. -

(B) Solve the folldwihg sub-questlons(Any four)
(1)

In trapezium ABCD side AB | side PQ || side DC. AP = 15

PD = 12, QC = 14, find BQ.




g
@
In the glven figure p01nts G D E F are pomfs of a c1rcle W1th '
: centre C AECF 70o m(arc DGF) 2000 5 ' ' '
@) m ('ach'E)'
(i'i) S m (érc' DEF)
“@ shéw that phirits A(—l,- —.1);‘Bto, 1),'0(1, 3) .a.u.'e collinear.
(5) | .A person is sténdlng a.t a’ alstanée of 50 m from a temple lookmg

g at its top. The ahgle of elevation is vo_f 45°, Flnd the height of -

the telmple. _
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NG (A) Complete the following aetivities‘. (eny oné)'z
4 /o : / . ; g . y

In A PQR, seg PM is a medlan Angle blsectors of LPM :
ZPMR mtersect 51de PQ and s1de PR in pomts‘ X and Y re: _' C
Prove that XY i QR

Complete the proof by 1111ng
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(A) Complete the following activities (ény oné) : 3

(1)

In A PQR seg PM is a medlan Angle blsectors of APMQ and

ZPMR mtersect 51de PQ and side PR in pomts X and Y respectlvely.
Prove that XY | QR &

'Com_plete the-]proof _by ﬁlling_-iﬁ»the b't')).'(es. Ny

i 7 oS

. Solutidn :
In APMQ, i

‘Ray MX is the. bisector of Z/PMQ

MP

BB [ it (D A[Theorérfliqf‘aﬁgle. bisector]

S‘imilarly:, in. APMR, Ray MY is bisector of ~PMR

,'MP i s
MR [ Jititiniseioions (II) [Theorem of angle_blsector] |

,‘/
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B MP_MP
E — MQ MR e P R (III) [AS M 1s the mldpou'lt Of QR]

Hence MQ MR

PX o] ] e e |
YR. e [From (’I), (II)} and (III)]
XY 0l QR S [Converse of bas1c proportlonahty theorem]

~(2)  Find the co- ordmates of po1nt P Where P is the rmdpomt of a

“hne segment AB W1th A(—4 2) and B(6 2)

. _SOlution 4
7 ) 3 LT : " 7i il 'B‘

A g R
V.(;—4,2)*- o A e e LT 6, 2

Suppose ( 4, 2) = (xl, yl) and (6 2) = (x2, y2) and co- ordmates
.'ofPare(xy) |

_According' to ‘midpoint theorem,‘

x =. -
2 g2 g2

Y = y1+y2=2+ - :i:
2 2 D

~ Co-ordinates of midpoint P are
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(B)  Solve the following SUb'qu‘*StiOhS’ (eny ’two) '8 (i
(1) In AABC, seg AP is a median. If BC = 18, AB? + AC? = 26 |
find" AP,
N (2)  Prove that, “Angles inscribed in the same arc are congruent”» ;
~ : : , . | v ) | y i i
. (3) Draw a circle of radius 3.3 cm. Draw a chord PQ of length l,

6.6 cm. Draw tangents to the circle at points P and Q.

4)

‘The radii of circular ends of a frustum are 14 e¢cm and 6 cm

ADS o by e s

- respectively and its height is 6 cm. Find its curved surface

area. ‘ (7tv= 3.1‘%)
4 - Solve the.,fello‘vtring sub-q'ueSti'ons (ehy two) : 8 |
.(1) In AABC, seg DE Ik s1de BC. If 2A(AADE) A(' DBCE), find.
AB AD and show that BC J{}DE | | 4
. (2) ASHR- ASVU In ASHR, SH = - 4.5 em, HR 5.2 em, SR—58cm}.
end S—g=§, construct ASVU |
(3) ‘ An ice-cream pot hes a rlght elrcular cyhndrlcel shape The radius of |

the base is 12 ¢cm and helght is 7'cm. Th1s pot 1s completely filled with

“ice-cream. The entire ice- cream is given to the students in the form

of rlght circular ice-cream cones, havmg d1ameter 4 cm and helght is |

3.5 cm. If each student is glven one cone,; how many students can be
served ?
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Solve the_ following sub-

questions (Any one) :

1)

= o

A circle touches s1de BC at p01nt P of the A ABC from out-s1de of the |

triangle. Further extended lines AC: and AB are tangents to the circle

atiN and M respectlvely. Prove' that :
 AM = _ (Perimeter of AABC)

(2  Eliminate 0 if x=rcose and y=rsin@.



